2015 04

P=+C+M)eB

w0 < T

2015 02

40%



>

Ex
Eo

Eok

K1
30%

L1

L

Y =A+D

- E - £ + K(&

— EBk)

26

E =1L +L,

L2=1-ZOZOWQ7'

T

2009 63
2010 01

0.9

11

10

11 30

31 60

61 100 15

0.5

0.8

1.0

10
0.1

10
0.02




D K,R — R,
2
R
Ro
K2 3 1
2.
40%
1
E-(& + Ek’)+ klliEk —(Ey + Ek,):|
,4 =
26
Ex"
EK’ _ R, ;?/(3/? ‘< E,
2
D=0
3.
40%
1
A=0
2
D KR — R. + R,
2
R1
E - F
R = UEO x R,
4,
40%
1
A= E - [Eo _(Eko Ek)]
26
2
D= K,R — 2/? + R,
R
R, = Foe = £x x R,



1
Lo E-E
26
2
5 _ KR =R,
2
C=101+05J+L
|
J
I+J 15
L
L
10
10
5
D -1
D -3
(
20 30 50
10 15 25
M=Qea+Hep ep +Nep eop
Q H N
B B B2 PB1
1 Q

SCIENCE NATURE

200
SCI SSCI SCIE 10
El CSSClI 4
2
1
10 5
1)

30%

0.8




2)

960

240

120

240

120

60

30




5%~10%

S A o

2000

60%

5000

10%

60%

4-5



35

75%

75%

75%~100%



